

| ITEM NO. | ITEM | ESTIMATED QUANTITY | UNIT | UNIT PRICE | AMOUNT |
|-----------|-----------------------------------------------------------------------|-----------------------|------|---------------------|--------------------|
| 203.0100 | ROADWAY EXCAVATION | 700 | CY | \$ 61.00 | \$ 42,700 |
| 206.2020 | STRUCTURE EXCAVATION FOR INLET AND OUTLET STRUCTURES | 79 | CY | \$ <u> </u> 103 | \$ <u>12,877</u> - |
| 206.2021 | STRUCTURE EXCAVATION FOR 54-INCH RCP CULVERT | 200 | CY | \$ <u>100</u> - | \$ 20,000 |
| 206.2022 | STRUCTURE EXCAVATION FOR BOX CULVERT | 40 | CY | \$ 100 - | \$ 4,000 - |
| 209.1000 | WATER POLLUTION AND EROSION CONTROL | F.A. | F.A. | F.A. | \$50,000.00 |
| 304.1110 | AGGREGATE BASE | 98 | CY | \$ 230- | \$ 22,540 |
| 305.1110 | AGGREGATE SUBBASE | 120 | CY | \$ 105- | \$ 12,600 |
| 312.0200 | PLANT MIX GLASSPHALT CONCRETE BASE COURSE | 31 | TON | \$ <u>225</u> | \$ 6,975 |
| 401.0400 | ASPHALT CONCRETE PAVEMENT, MIX NO. IV | 96 | TON | \$_250 ⁻ | \$ 24,000 |
| 503.1000 | CONCRETE IN CONCRETE BOX CULVERT(CLASS A) | 20 | CY | \$ 900- | \$ <u>18,000</u> |
| 503.2000 | CONCRETE IN CONCRETE INLET AND OUTLET STRUCTURES (CLASS A) | 23 | CY | \$ 2400- | \$ 55, 200 |
| 602.0401 | REINFORCED STEEL FOR CONCRETE BOX CULVERT (2600 LB) | L.S. | L.S. | L.S. | \$ 4000- |
| 602.0402 | REINFORCED STEEL FOR CONCRETE INLET AND OUTLET STRUCTURE (2225 LB) | L.S. | L.S. | L.S. | <u>\$ 4000 - </u> |
| 50B 02 00 | | | | | |

50B-02-99

8/30/01

P-9

| ITEMANO | PROPOSAL SCHEDULE | ESTIMATED | | UNIT | |
|-----------|----------------------------------------------------------------------|-----------|------|-------|-------------|
| ITEM NO. | ITEM | QUANTITY | UNIT | PRICE | AMOUNT |
| 603.0010 | BED COURSE MATERIAL FOR CULVERT | 14 | CY | \$ | \$ |
| 603.5100 | 54-INCH REINFORCED CONCRETE PIPE, CLASS III | 100 | LF | \$ | \$ |
| 606.3110 | GUARDRAIL, W-BEAM SINGLE WITH STRONG POST | 75 | LF | \$ | \$ |
| 606.7001 | TERMINAL SECTION, TYPE FLEAT-350 | 1 | EACH | \$ | \$ |
| 606.7002 | TERMINAL SECTION, TYPE G | 2 | EACH | \$ | \$ |
| 612.0100 | GROUTED RUBBLE PAVING | 53 | CY | \$ | \$ |
| 618.0100 | GRASSED SURFACES (1634 SQ YD) | L.S. | L.S. | L.S. | \$ |
| 621.4101 | REFLECTOR MARKER (RM2) WITH STEEL POST | 3 | EA | \$ | \$ |
| 621.4102 | OBJECT MARKER, TYPE II WITH STEEL POST | 3 | EA | \$ | \$ |
| 621.7101 | CONSTRUCTION SIGN WITH TWO POSTS | 4 | EA | \$ | \$ |
| 645.2000 | ADDITIONAL POLICE OFFICERS AND/OR ADDITIONAL TRAFFIC CONTROL DEVICES | F.A. | F.A. | F.A. | \$30,000.00 |
| | | | | | |
| | | | | | · |
| | | | | | |
| 50B-02-00 | | | | | |

50B-02-99

6/6/02 P-10





| ITEM NO. | ITEM | ESTIMATED QUANTITY | UNIT | UNIT PRICE | AMOUNT |
|----------|-----------------------------------------------------------------------------------------------------------------------|--------------------|------|---------------|-----------|
| 699.1000 | MOBILIZATION (NOT TO EXCEED 10% OF THE SUM OF ALL ITEMS EXCLUDING THE BID PRICE OF THIS ITEM AND FORCE ACCOUNT ITEMS) | L.S. | L.S. | L.S. | \$ 27,500 |
| | | | | | · |

SUM OF ALL ITEMS

\$ 447,217

NOTE: Bidders must complete all unit prices and amounts. Failure to do so maybe grounds for rejection of bid.

The bidder is directed to Subsection 108.01 - Subletting of Contract.

The bidder's attention is directed to Section 699 - Mobilization for the limitation of the amount bidders are allowed to bid.

If the bid price for any proposal item having a maximum allowable bid indicated therefor in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106.12 - Recycling of Waste Glass and 106.13 - Ordering of Certain Material.